Jumpingl Small (40 sec / 80 sec)

R4 PN NI iz AL | FALBE|] R it | BERS
AL NETY 1 15.62 0 5 0 5
Fr— fMT—FIL 2 30.8 0 0 10 10

Jumpingl Medium (36 sec / 72 sec)

R4 PN NI iz AL | FALBE] R B | BEER
HHIE DI)T4a 1 20.39 0 5 10 15
I S=FaTIT—FRIL DQ DQ DQ DQ DQ DQ

Jumpingl Large (32 sec/ 64 sec)

R4 PN NI iz AL | FALEBE] R B | BERR
Do — A= T/N—FK 1 15.14 0 5 5
397 REAUFE—RT—K)L 2 30.05 0 5 5
a4 R—4—a1)— 3 32.27 0.27 5 5.27
R @< R—4—a1)— 4 19.55 0 10 15
Y IA4— SvUR DQ DQ DQ DQ DQ DQ




Jumpingl Small (40 sec / 80 sec)

K4 KiE JIE {32 BALL | BALER|] kB b1=Fivcil BERR
ZIEH DT ILT4 1 29.96 0 0 5 5
LY O—F— 2 57.08 12.08 0 0 12.08
AL NEIY DQ DQ DQ DQ DQ DQ
)L FAY A -avh— DQ DQ DQ DQ DQ DQ

Jumpingl Medium (36 sec / 72 sec)

pNE KiE JIE {32 BALL | BALER|] kB B4t BEBR
NI H TTILTA 1 27.62 0 0 0 0
Luce S=FaF7T—KIL DQ DQ DQ DQ DQ DQ

Jumpingl Large (32 sec/ 64 sec)

K4 KiE [[=Riva BALL | BALER|] KK B4t e R
N — R—A—1)— 1 24.77 0 0 0 0
OOPS! h—F—a1)— 2 24.80 0 5 5 10
s B—EalLy 3 38.45 0 5 5 10
JOY R—4—2al)— DQ DQ DQ DQ DQ DQ
13 h—F—a1)— DQ DQ DQ DQ DQ DQ




Jumping2 Medium (47 sec / 70 sec)

PN PN L] NI 3z AL | FALER]  REK it | BRERS
INTIBERBA DI)T4a 1 42.35 0 0 0 0
(X5 hH TTILTA 2 37.46 0 0 5 5
i (&) DI)T4a DQ DQ DQ DQ DQ DQ
Luce S=FaT7T—FIL DQ DQ DQ DQ DQ DQ
VI S=FaT7T—FKIL DQ DQ DQ DQ DQ DQ

Jumping?2 Lartge (45 sec / 67 sec)

R4 RiE NI 32 AL | FALEE|]  REK i | BRERR
NYHr—> R—4—a1)— 1 35.93 0 0 0 0
INE R—4—a1)— 2 58.85 13.85 20 10 43.85
a7 R—A—a1)— DQ DQ DQ DQ DQ DQ
s A—EalLY DQ DQ DQ DQ DQ DQ
JOY R—F—a1)— DQ DQ DQ DQ DQ DQ
OOPS! R—4—al)— DQ DQ DQ DQ DQ DQ




Agility Beginner Small (45 sec / 90 sec)

R4 RiE NI 32 AL | FALBR|] KK B | BERR
L TA)hY -ayh— 1 25.91 0 0 0
R TAYh - avh— 2 38.29 0 0 0
LY O—F— 3 49.10 4.1 0 4.1
7= O—F— 4 57.77 12.77 0 12.77
ZIEH T )TA DQ DQ DQ DQ DQ DQ
AL NEIY DQ DQ DQ DQ DQ DQ
Agility Beginner Medium (42 sec /84 sec)

R Rig & 132 AL | FALBR|] KK B | BERR
HiE DTILTA DQ DQ DQ DQ DQ DQ
Agility Beginner Large (40 sec / 80 sec)

R RiE JIE 52 AL | FALBR|] KK B | BERR
DT — A T/N—FK 1 34.86 0 0 0 0
OOPS! R—F—al)— DQ DQ DQ DQ DQ DQ




Agilityl Small (50 sec / 75 sec)

R4 RiE NI 52 AL | FALBR| REK B | BERR
L FA)hY -ayh— 1 46.82 0 0 0 0
AL NEIY DQ DQ DQ DQ DQ DQ
LY J—X— DQ 85.06 DQ DQ DQ DQ
ZIEH T )T4a DQ DQ DQ DQ DQ DQ
77 O—¥%— DQ 92.69 DQ DQ DQ DQ
Agilityl Medium (47 sec / 70 sec)

R4 RiE NI 32 AL | FALBR| R B | BERR
Luce S=FaTIT—FIL 1 43.55 0 0 10 10
Agilityl Large (45 sec / 67 sec)

R4 RiE NI 52 AL | FALBR|] KK Bt | BERR
353 R—4—a1)— 1 43.01 0 0 0 0
OOPS! R—4—al)— 2 38.08 0 5 0 5
Joy R—4—al)— 3 45.83 0.83 5 0 5.83
e A—EalLY 4 53.77 8.77 0 5 13.8
INE R—%—a1)— 5 61.52 16.5 20 5 41.5




Agility2 Small (58 sec / 87 sec)

X4 Kig JIE £ AL (LR KK {E4E BEIR R
RUIE TILTA 1 43.80 0 5 0 5
77— O—¥%— DQ DQ DQ DQ DQ DQ
Agility2 Small (55 sec / 82 sec)

P PN ;] [[=Liva AL (AL ER| KK 1E4E IR R
aAt=A~D TxIT+4 1 52.02 0 0 0 0
T S=FaF7T—FIL 2 52.77 0 10 0 10
(X5H TILTA DQ DQ DQ DQ DQ DQ
T (SF) TIVTA DQ DQ DQ DQ DQ DQ
Luce S=Fa7T—FIL DQ DQ DQ DQ DQ DQ
Agility2 Small (53 sec / 79 sec)

X4 Kig [[=fiva AL (LR KK jE4E BEIR R
N)r—2 R—F—a1)— 1 45.14 0 0 0 0
INE R—4—a1)— 2 51.27 0 5 0 5
a7 R—4—a1)— DQ DQ DQ DQ DQ DQ
JOY R—A—21)— DQ DQ DQ DQ DQ DQ
OOPS! R—4—a1)— DQ DQ DQ DQ DQ DQ
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